FAPTERE T (1 HHIZD)

JEERE | AEEB | EEIR  EEGR2 Al | BEOTEE2 | BEEES  ETE4 | BETEES
3
e 51 Bt 1,165 1,290 1,357 1,436 1,517 1,595 1,672
(1##& 5 2 B e 1,355 1,480 1,547 1,626 1,707 1,785 1,862
) 5 3Bt 2,015 2,140 2,207 2,286 2,367 2,445 2,522
LR 3,121 3,246 3,313 3,392 3,473 3,551 3,628
= 3,666 3,915 4,049 4,208 4,369 4,526 4,680
(2 FI&4H)
%R 51 Bt 851 971 1,061 1,140 1,220 1,299 1,375
(1 #I#& 2B 1,311 1,431 1,521 1,600 1,680 1,759 1,835
) o 3B bt 1,571 1,691 1,781 1,860 1,940 2,019 2,095
e 2,817 2,937 3,027 3,106 3,186 3,265 3,341
IR 3,367 3,607 3,787 3,946 4,105 4,264 4,416
(2 FIAH)

(BEE, $NTOREMEZEATZEHTY)

Kl EZNA—L (1 BHD)

EEES AERE EAE1 ENE2 E4E3 E4E4 ENES 'E'Ef'\ﬁg 'E'i'\ﬁ 'Ei\'ﬁ
E= =1 ERFE 1,353 1,430 1,509 1,587 1,662 1,353 1,476 1,624
(1EIEE) FE2KRME 1,543 1,620 1,699 1,777 1,852 1,543 1,666 1,814
= EX M 2,203 2,280 2,359 2,437 2,512 2,203 2,326 2,474
HEHR 3,309 3,386 3,465 3,543 3,618 3,309 3,432 3,580
A=
HAEZE 4,041 4,195 4,354 4510 4,660 4,041 4,287 4,583
(2 #IEE)
ZRE =1 ERFE 1,033 1,110 1,189 1,267 1,342 1,033 1,156 1,304
(1EIEE) F2KME 1,493 1,570 1,649 1,727 1,802 1,493 1,616 1,764
= EXME 1,753 1,830 1,909 1,987 2,062 1,753 1,876 2,024
HAELE 2,999 3,076 3,155 3,233 3,308 2,999 3,122 3,270
SHE
(2 188 HAEZE 3,731 3,885 4,044 4,200 4,350 3,731 3,977 4,273

(BEE, T NTOREMZEALEHTY)




